1 Linear Equations in Two Variables

Problem Set -1

1. Choose correct alternative for each of the following questions

(1) To draw graph of 4x + 5y = 19, Find y when x = 1.

(A) 4 (B) 3 (€) 2 (D) -3

So(" (- L2+ 5y =13
when 9€$l/

(gx1) +5y =13

y=3

Prswery = OPHO”

=49, D, = -63
’ y ’

(2) For simultaneous equations in variables x and y, D,

D = 7 then what 1s x ?
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(A) 7 (B) -7 © 7 (D) —



Sol- D==1k3 |, Dy=-63, D=7
De
X = D
_ 43
2 X = =3
® =3

Answey = Opbtion ®

5 3

(3) Find the value of 7 4

(A) -1 (B) -41 (C) 41 (D) 1

S- |53

( 5x-a)— (3r=
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— 20— (—21)
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Answey = Oeption @




(4) To solve x + y = 3 ; 3x - 2y - 4 = 0 by determinant method find

D.
(A) 5 (B) 1 (C) -5 (D) -1
Solni- re+y=3 — @
3r-2y -4 =0
-2y =4 —@
l |
D =
3 -2
- C[x_—’)_)-_ (Bﬁl)
= = Q.—'\g
D= -5
- Answef( — OP']:T;OI’) @

(5) ax + by = ¢ and mx + ny = d andan # bm then these simultaneous

equations have -

(A) Only one common solution.

(C) Infinite number of solutions.
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(B) No solution.

(D) Only two solutions.
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o- b
D =
O N
= (axn) - (mMxb)
D = an - bm
A.S, oN ;é J.’)rf)
D #0

Thece equabions fll have only

onNe  common Solwtion.

Answexy = oOption ®

2. Complete the following table to draw the graph of 2x - 6y = 3

X -5
y 0
(x, »)
Sol" - 9»22.-—63 =3
N When ®=-5 " When y=0
(2x-5) -6y =3 . 2p — (ex0)=3

~10- 6y =3 T 2R -0=23
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-13
I= "5
X -5 _3£
Y - 0
(X, y) (-5 = ) (%,0

3. Solve the following simultaneous equations graphically.
(1) 2x + 3y =12 ;x -y =1

&'_ﬂ:‘ D +3y = 12
3y = 12-2=>
- 2®
y = —
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12.— (2%x0)
J = S
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| 12— (2r3)
- 3
10, - 6 6 _
— = 1y =
i When ®=-8
(2 - C2x=3)
J = 3
- 12 —(-96)
3
(D + 6
—
3
y==56
> O 3 -3
Y Ly 2 6
(X,j) ( 0, Lf) (3, 2) C‘3/6>




2 = J+I
Nhen y=0 |,
= O+
= |
Wh_en d:‘_’l/
= — |+
¥ =0
Nhen g= 2 |
= 2 4\
= 3
[ @ 3
o — | 2L
(leD (1, 0) (0,—') (3,2)
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2)x-3y=1;3x-2vy+4=0

5017 ® -3y =1

) INhen y =0,
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- 3+
® = 4

T INhen Y = 2.,
R = ( 3x2 + |




rd | b =
Y O \ 2
(%,9) (1, 0) C4, 1) (F:2)
Now 396«15 +Lf =
Axr = 1y - 4
v = 2y -4
3
‘\) l/\fhze/f) U:; .._l )
(2x—=1)—4
= 3
x = 2=
3
— 6
X = 3
N = — 2




'u')
INhen
|
=5
C /
2% 8)
- 4

()

(=
3)
C
,,‘),/
~0)
(
2
1S)

Ch8)




J »
S <
m 3
o ® \.Dj
o \>,
mw 9O ) -
< )
rlv n m .l./ u\l/ ﬂ
Q) — S D) =
P b
\ND
N
U
// - \ = @)
Y — S .-Ul 8 -
o0 3 G/ 7 T 0 | . N
o S
> N
S
b - \
N = 4
\ & X~
/ .\vx Aw./ NG .ﬂ
\ &mnlu C }) n.lwf
9 N\
/ B i M )
I U
1\ LSRR )
N M r“ o)
Q) / b <f
/ _h.. 11
= il




(3) 5x - 6y +30 =0 ;5 +4y -20=0

Sol M- S — 6y +30 = O

5% + 30 = 6Y

5% +30
J= 6
) INhen e = ,
(Sxo0) +30
- 'S
30
J = ¢
g=2

i) When 2= 6

(5¥e) +30
J = 6
3 +30
J = 6
690
J = &
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_ (5r-g)+30
J = 3
-20+30
J = 5
_ L
J = 6
y=20
CS O 6 — 6
Y 5 | 0 0
(% ,9) (6/5) ( 6,10) (=6.0)
Now, 52 t 4y -20 = 0

by = 20 -5

2 0—-5x
Ly

Yy =
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J = Ty
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0 . — 4
) 0 I O

(%,9)

C 0.5) (4, 0) (-4 ,(0)
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(4) 3x - - =
y-2=0;2x+y =28

Solhy -
I3x-3-2 =0

—

y= 6-2
y ="
W) When =~




2 3 N N
” "2 4 -5
(#,5) | (o, C 2 k) (-1, -2

Now oty = Q
y = 8-2x

y = ¢- (2x0)
y = &-0
Yy =
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y=93-(2rx2)
y= 8-4
y = &
2 0 I 2
J g 6 L
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S)3x+y=10;x -y

Sl - 3% +39 = (0
y = 10-3%
) When =1,
y < l0—C$X(>
y = [0-3
y =+

M) When P =2
N = (06— (3»r2)

Yy = [0-6

“i) Nhe/) ge,—,\g’

y = lo-(3%3)
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NO")/ R -y = 2L
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y =5-2

y =3
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Y -2 0 3
(%,9) ( 0,-2) (2, 0) (5.3)
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